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Group 1

For items 1 through 8, indicate whether each item listed is:

	A
	a current asset

	B
	a plant asset

	C
	not an account that belongs on the Balance Sheet


Write the correct identifying letter on your answer sheet.
1. Land






5. Allowance for Uncollectible Accounts

2. Depreciation Expense

6. Store Equipment

3. Merchandise Inventory

7. Accumulated Depreciation

4. Change Fund




8. Income Summary

Group 2

Consider the following information about a plant asset for questions 9 through 11, and write the correct amount on your answer sheet.

	Original Cost
	$17,000

	Salvage Value
	$2,000

	Date Purchased
	06-01-04

	Estimated Useful Life
	5 years

	Accumulated Depreciation as of  01-01-07
	$7,750


For questions 9 and 10, assume the asset was sold for $10,000 on 02-28-07.

  9. What is the amount of accumulated depreciation on the date of sale?

10. What is the amount of gain or loss?

For question #11, assume the asset was sold for $7,000 on 02-28-07.
11. What is the amount of gain or loss?
Group 3

A jewelry retailer has the following inventory data for a specific fashion watch.    During the year 210 watches were sold for $15 each and 437 watches were sold for $20 each.  The company uses the periodic inventory method.  The market value of the watch as of 12-31-06 is $9.85 each.   (Round computations to the nearest cent.)

	
	
	Number of

Units
	Cost per Unit
	

	1-1-06
	Beginning Inventory
	10
	7.40
	

	Feb
	Purchase
	80
	8.00
	

	Mar
	Purchase
	100
	8.20
	

	May
	Purchase
	70
	9.00
	

	Jun
	Purchase
	75
	9.10
	

	Aug
	Purchase
	80
	9.30
	

	Sept
	Purchase
	95
	9.50
	

	Oct
	Purchase
	103
	9.60
	

	Nov
	Purchase
	40
	9.70
	

	Dec
	Purchase
	9
	9.80
	

	
	
	
	
	


The physical inventory taken on 12-31-06 revealed the following:

	Month Watch Was Purchased
	Quantity

	November
	7

	September
	5

	June
	1

	March
	2

	
	


For questions 12 through 15, write the correct amount on your answer sheet.  

12. What is the gross profit using the specific identification method?

* 13. What is the gross profit using the FIFO inventory costing method?

 * 14. What is the gross profit using the LIFO inventory costing method?

15. What is the gross profit using the average-cost inventory costing method?

Group 4

Write the identifying letter of the following account title that best fulfills each accounting entry in items 16 through 21.

	A
	Cash in Bank
	
	E
	Purchases

	B
	Accounts Receivable
	
	F
	Cost of Merchandise Sold

	C
	Merchandise Inventory
	
	G
	Sales

	D
	Accounts Payable
	
	
	


Answer items 16 and 17 assuming the company policy is to use the periodic inventory method.
	
	Debit
	Credit

	Purchased merchandise for resale on account
	#16
	XXX

	Sold merchandise to a customer on account
	XXX
	#17


Answer items 18 through 21 assuming the company policy is to use the perpetual inventory method.

	
	Debit
	Credit

	Purchased merchandise for resale on account
	*#18
	XXX

	
	
	

	Sold merchandise to a customer on account (selling price)
	XXX
	#19

	Same sales entry as preceding (cost portion of transaction)
	*#20
	*#21


Group 5

For questions 22 through 30, write the identifying letter of the best response on your answer sheet.

22.  Which of the following years does not have actual uncollectible accounts equal to 


exactly 2.4% of that year’s net sales?









 Actual






Net

   Uncollectible


  
Year
     Sales
     Accounts

A.    2003
    26,875

   645


B.    2004
    20,400

   420


C.    2005
    75,000

1,800


D.    2006
  350,000

8,400

23.  Before extending credit, wholesalers sometimes use reports from wholesale credit


bureaus and national credit-rating organizations such as _?_ to check their 


customers’ creditworthiness.


A. Hart & Shaffner


C. Dun & Bradstreet


B. Stanley & Blacker

D. Marona Credit Bureau

Group 5 continued

24.  Which of the following statements is false?


A. Plant assets may include equipment, buildings, and land that are purchased for



use in operating the business, not for resale.


B. Plant assets do not include cash, supplies, or prepaid insurance.


C. Another name for plant assets is long-lived assets.


D. The cost of a plant asset includes any sales taxes paid on the purchase of the



asset, but the sales tax amount is debited to a tax expense account.

25. Another method of computing depreciation uses an estimated useful life measured 


in units of use rather than units of time.  This method is called:


A. Units-of-production method

D. Accelerated productivity method


B. Units-of-use method



E. Declining-balance method


C. Productivity method

26. Which of the following is not a characteristic of a partnership?


A. unlimited life


C. mutual agency


B. unlimited liability

D. co-ownership of partnership assets

27. When assets other than cash are invested in a partnership by a partner, the asset


accounts of the partnership are debited for the _?_ of the assets.


A. original cost


C. market value


B. allocated value

D. depreciated value

28.  Which of the following can be used indefinitely for business operational purposes,


is considered permanent, and is not depreciated?


A. cell phone          B. computer          C. building          D. land

29.  Businesses should apply the consistency principle when using an inventory costing


method but may change methods as long as the business


A. declares the reasons for changing


B. reports how the change will affect the financial statements


C. requests permission from the Internal Revenue Service


D. all the above


E. none of the above

30.  Which method is often used to estimate the cost of the ending inventory reported 


on interim financial statements?


A. sum-of-the-years’-digits method

C. ideal reorder quantity


B. gross profit method




D. efficient quantity of MI

Group 6

For items 31 through 46, write on your answer sheet True if the statement is true; write False if the statement is false.

31. The amount added to the cost of merchandise to establish the selling price is called


vertical assessment.

32. One reason a partnership may end is if any of the partners become bankrupt.

33.  An employer must match the Medicare tax and federal unemployment tax on all 


the
annual wages of each employee.

34.  If the partnership agreement does not explain how net income or net loss is to be


distributed, the net income or net loss is allocated based on the capital investments


of the partners.

35.  If a retail merchandising business does not use an account called Transportation In,


the freight costs of purchases are recorded as debits to the Purchases account and


the income statement will not have a line item called Cost of Merchandise Sold.

36.  Unacceptable component percentages serve as a warning that management action


may be necessary.

37.  The terms bad debt and doubtful account are used by some companies instead of


the term uncollectible account.

38.  The terms residual value and scrap value are used by some companies instead of


the term salvage value.

39.  The term trade-in value is not the same as the term disposal value.

40. Based on the theory that an asset loses more value in the early years of its useful


life than in the later years is why some companies use the sum-of-the-years’ digits


method, which is an accelerated depreciation method.

41. When applying the lower-of-cost-or-market rule, inventory as reported on the


balance sheet is never greater, but may be less, than the actual cost of the 


inventory.

42. In accounting principles, “GAAP” refers to an example of a retail merchandising


chain store.

43. The use of pre-numbered documents is a preventive internal control that attempts to


ensure that all documents are recorded.

44. An endorsement on the back of a check consisting only of the endorser’s signature


indicates that the subsequent owner is whoever has the check.

45. A check that a bank refuses to pay is called a dishonored check and there is only


one reason a bank will dishonor a check, which is when the check appears to be


altered.

46. The Petty Cash account is debited when the fund is initially established and when it


is subsequently increased.

Group 7

Refer to the information provided in Table 1 on page 10.  For questions 47 through 56, write the identifying letter of the best response on your answer sheet.

47.  What was the book value of Accounts Receivable on 1-1-06?


A. $1,554     B. $7,096     C. $13,152     D. $13,402     E. $14,956     F. $15,206

48.  What is the amount of net sales for the year?


A. $250,550    B. $250,800    C. $257,200    D. $258,450    E. $278,900

 * 49.  What was the total amount of Accounts Receivable that was written off as 


uncollectible during the year 2006?


A. $250    B. $1,554    C. $1,804    D. $1,875    E. $2,054    F. $2,125

50.  Which of the following is correct about Bayberry’s entry to write-off any customer’s 


uncollectible account receivable?


A. Uncollectible Accounts Expense is debited.


B. Accounts Receivable is debited.


C. Allowance for Uncollectible Accounts is debited.


D. Allowance for Uncollectible Accounts is credited.

51.  From the information given which of the following makes it evident that Bayberry 


does not use the direct write-off method?


A. Uncollectible Accounts Expense has a zero balance before adjusting entries are 


     made.


B. The company does not allow customers to say “charge it.”


C. The general ledger contains an account called Uncollectible Accounts Expense.


D. The general ledger contains an account called Allowance for Uncollectible 


     Accounts.

* 52.  Which of the following is true regarding the adjusting entry on 12-31-06?


A. Uncollectible Accounts Expense is debited for $1,804.


B. Accounts Receivable is credited for $1,804.


C. Allowance for Uncollectible Accounts is credited for $1,554.


D. Allowance for Uncollectible Accounts is debited for $1,554.

53.  Which of the following is true regarding the presentation of Accounts Receivable, 


Allowance for Uncollectible Accounts, and Uncollectible Accounts Expense in the 


company’s financial statements?


A. Allowance for Uncollectible Accounts is found on the Income Statement.


B. On the Balance Sheet, Allowance for Uncollectible Accounts is listed immediately 


     below Accounts Receivable in the assets section.


C. On the Balance Sheet, Accounts Receivable is listed immediately below 


     Allowance for Uncollectible Accounts in the assets section.


D. Uncollectible Accounts Expense is a contra account to Accounts Receivable on 


     the Balance Sheet.

Group 7 continued

* 54.  What is the book value of Accounts Receivable at each of the following times:



On 12-31-06 Before


On 12-31-06 After



the adjusting entry


the adjusting entry

A.

   $7,096




  $14,956


B. 

   $7,096




  $13,402


C.

  $14,956




  $13,152


D.

  $14,956



 
  $13,402


E.

  $13,402




  $13,402

* 55.  What was the total amount received on account from all customers during the year?


A. zero     B. $72,640     C. $74,515     D. $80,500

* 56.  Assume that Bayberry instead estimates uncollectible accounts expense by 


calculating one percent of net sales.  Which of the following is true regarding the 


adjusting entry on 12-31-06?


A. This is the same as the direct write-off method.


B. Allowance for Uncollectible Accounts is credited $2,258.


C. Uncollectible Accounts Expense is debited $2,258.


D. Allowance for Uncollectible Accounts is credited $2,508.


E. Both B and C are true statements.

Group 8

Refer to the information in Table 2 on page 11.  For questions 57 through 65, write the identifying letter of the best response on your answer sheet.

57.  The amount that will be debited to Equipment is:


A. $600,000

D. $664,500


B. $610,450

E. $675,000


C. $659,300
F. $725,000

58.  Based on the various estimates, what is the total amount to be depreciated on this


equipment?


A. $535,450

D. $600,000


B. $584,300

E. $650,000


C. $589,500
F. $675,000

59.  What is the estimated annual depreciation amount using the straight-line method?


A. $29,214.96

D. $33,750


B. $30,000


E. $360,000


C. $33,225


F. $405,000

60.  The estimated depreciation amount will be recorded as a


A. debit to Equipment


B. credit to Equipment


C. credit to Allowance for Unrecoverable Cost


D. debit to Depreciation Expense—Equipment 

Group 8 continued

61.  At the end of each fiscal period, the adjusting entry for depreciation includes a


A. debit to Depreciation Expense—Equipment and a credit to Equipment.


B. debit to Accumulated Depreciation—Equipment and a credit to Depreciation


     Expense—Equipment.


C. debit to Depreciation Expense—Equipment and a credit to Accumulated


     Depreciation—Equipment. 


D. debit to Depreciation Expense—Equipment and a credit to Cash in Bank.

62.  After the adjusting entries dated 12-31-06 are posted to the general ledger,


Depreciation Expense—Equipment will have a balance of


A. zero




D. $19,687.50


B. $17,042.08


E. $20,000


C. $17,500



F. $22,500

63.  After the adjusting entries dated 12-31-06 are posted to the general ledger, the


Equipment account will have a


A. credit balance equal to the accumulated depreciation.


B. debit balance that was created by netting the original purchase price and


     appropriate costs less the accumulated depreciation.


C. debit balance for the amount of depreciation through 12-31-06 plus the


     original cost of the asset.


D. none of the above

64.  After the closing entries dated 12-31-06 are posted, the Depreciation


 Expense—Equipment account will have a balance of


A. zero



D. $19,687.50


B. $17,042.08

E. $20,000


C. $17,500


F. $22,500

65.  At the beginning of the 2007 calendar year, Accumulated Depreciation—Equipment 


will have


A. a debit balance

C. either a debit or credit balance


B. a credit balance

D. a zero balance

Continue to refer to Table 2.  For questions 66 through 68, write the correct amount on your answer sheet.

* 66. What will be the balance of Accumulated Depreciation—Equipment on 1-1-08?

* 67. What will be the book value of this equipment on 1-1-10?

  ** 68. If AlumRecyc had used the double declining-balance method and the equipment 


had been purchased on 1-1-06, what will be the book value of the equipment


on 1-1-08?

Group 9

Refer to the data in Table 3 on pages 12 and 13.  Answer questions 69 through 80 by writing the correct amount on your answer sheet.  The financial statements on page 13 will not be reviewed by the contest graders.

69. What is the amount of cost of merchandise sold?

70. What is the book value of Accounts Receivable on 12-31-06?

71. What is the book value of the equipment on 12-31-06?

**72. What is the amount of purchases of merchandise?

73. What is the amount of Depreciation Expense?

74. What is the amount of Insurance Expense?

75.  What is the amount of gross sales?

76.  What is the amount of Supplies Expense?

77. What is the amount of Bad Debt Expense?

 *78. What is the amount of Total Assets on the balance sheet dated 12-31-06?

  *79. What is the amount of net income or net loss for the year ended 12-31-06? 

**80. What is the amount of capital on the Post-Closing Trial Balance for 12-31-06?

This is the end of the exam.  Please hold your answer sheet and exam until the contest director asks for them.  Thank you.

Table 1

(for questions 47 through 56)

The accountant for Bayberry Candle Store gathered the following information for the end of the fiscal year dated December 31, 2006.
	
	Accounts
	Estimated
	Estimated

	
	Receivable
	Percentage
	Uncollectible

	Age Group
	Amount
	Uncollectible
	Amount

	Not Yet Due
	6285
	2%
	

	1-30 days past due
	4320
	5%
	

	31-60 days past due
	2465
	20%
	

	61-90 days past due
	1056
	30%
	

	91-180 days past due
	630
	50%
	

	Over 180 days past due
	450
	75%
	

	
	
	
	


The following table shows information obtained from Bayberry’s general ledger after all regular business transactions were journalized and posted for 2006 but before any adjusting journal entries were prepared.  (It is company policy to adjust and close accounts only at the end of the fiscal year.)  All accounts have normal balances.

	Sales
	264,850
	
	Uncollectible Accounts Expense
	0

	Accounts Receivable
	?
	
	Allowance for Uncollectible Accounts
	250

	Sales Discounts
	7,650
	
	Sales Returns & Allowances
	6,400


Bayberry uses the allowance method of accounting for uncollectible accounts.  The company consistently estimates the uncollectible amount by aging its accounts receivable accounts.

A review of the year-to-date activity in the account called Allowance for Uncollectible Accounts indicates the account had a January 1, 2006 balance of $2,125.

A review of the year-to-date activity in the account called Accounts Receivable indicates the total sales on account for the year to be $80,500 and the balance of Accounts Receivable on 1-1-06 was $9,221.

In 2006 once an account receivable was written-off as uncollectible, no subsequent payments were received that would require a reinstatement.

Table 2

(for questions 57 through 68)

A company called AlumRecyc located in Texas manufactures aluminum containers for various beverage companies.  AlumRecyc purchased a new machine that will enable them to sanitize, crush, and reshape used aluminum into flat sheets so that new containers can be made and sold.  It was purchased on May 18, 2006 for $610,450.

The machine’s technology is actually three years old, and the market value in 2003 was $725,000.

Even though the machine was assembled in Detroit, Michigan, AlumRecyc was required by the state of Texas to pay Texas sales tax of $48,850 because the Detroit company also had operations in Texas.

AlumRecyc was required to pay $5,200 to have the machine transported to Texas. 

Upon arrival a specialized crew had to install the new machine at a cost of $10,500.

The machine was fully operational and placed into service on May 29, 2006.

AlumRecyc estimates the useful life of the asset to be 20 years.  The estimated value of the machine at its replacement time is determined by AlumRecyc to be $75,000.

AlumRecyc uses the straight-line method for depreciation of equipment.  It is company policy to prepare adjusting entries only at the end of the fiscal year, which is December 31.

Assume this is the only equipment currently owned by AlumRecyc.
TABLE  3

(for questions 69 through 80)

The accountant had prepared on a spreadsheet program the complete and accurate financial statements as of December 31, 2006.  Another employee accidentally erased some of the data in the financial statement spreadsheet file.  All the amounts remaining are correct.

Later when the accountant printed the financial statements, he was faced with the task of replacing the missing data.  The financial statements are found on 

page 13.

Additional Facts:

1. Equipment consists of one asset bought on 04-01-03, with a salvage value of 

$6,000, and an estimated useful life of 7 years.  The straight line method is 

used.

2. On 01-01-06 the account Allowance for Uncollectible Accounts had a credit balance of $2,650.  In July 2006 a customer’s account in the amount of $1,500 was written off.  The company uses the aging of accounts receivable method to estimate its bad debts expense.  The aging on 12-31-06 indicates that $3,020 is estimated to be uncollectible.

3. In the trial balance column of the work sheet for the year ended 12-31-06 

      Prepaid Insurance had a normal balance of $4,190 and Supplies had a normal 

      balance of $3,600.

4. The gross profit percentage is 25% of net sales.

5. There were no owner investments made in the fiscal year ended 12-31-06.

Table 3___   (for questions 69 through 80)

The Apple Basket

Income Statement

For the Year Ended December 31, 2006
	Revenue:
	
	
	

	 Sales
	
	
	 

	 Sales Returns & Allowances
	
	3,290
	

	 Sales Discounts
	
	4,740
	

	   Net Sales
	
	
	82,460

	Cost of Merchandise Sold:
	
	
	

	 Merchandise Inventory on 01-01-06
	
	12,420
	

	 Purchases
	       
	
	

	 Transportation In
	          2,640
	
	

	 Cost of Delivered Merchandise
	
	 
	

	 Purchases Returns & Allowances
	3,105
	
	

	 Purchases Discounts
	2,410
	 
	

	 Net Purchases
	
	
	 

	 Cost of Merchandise Available for Sale
	
	
	 

	 Merchandise Inventory on 12-31-06
	
	
	 

	   Cost of Merchandise Sold
	
	
	

	Gross Profit on Sales
	
	
	

	Expenses:
	
	
	

	 Rent Expense
	
	9,000
	

	 Insurance Expense
	
	
	

	 Supplies Expense
	
	
	 

	 Utilities Expense
	
	4,140
	

	 Bad Debts Expense
	
	
	 

	 Depreciation Expense
	
	
	 

	    Total Expenses
	
	
	

	Net Income (Loss)
	
	
	


The Apple Basket

Balance Sheet

December 31, 2006

	Assets
	
	

	 Cash in Bank
	
	22,650

	 Accounts Receivable
	18,570
	

	 Allowance for Uncollectible Accounts
	 
	 

	 Merchandise Inventory
	
	10,610

	 Supplies
	
	1,905

	 Prepaid Insurance
	
	2,750 

	 Equipment
	48,000
	

	 Accumulated Depreciation—Equipment
	 
	 

	Total Assets
	
	 

	Liabilities
	
	

	 Accounts Payable
	
	8,790

	Capital
	
	

	 Lucy Fuji, Capital, January 1, 2006
	97,705
	

	 Plus (Less) Net Income (Loss)
	
	 

	 Less Owner Withdrawals
	24,000
	

	 Lucy Fuji, Capital, December 31, 2006
	
	

	Total Liabilities and Capital             
	
	


